]
track x?

berset

o,

092 4 6 & 10 12 14 16 18 20

[S]

N of associated (recoToSim) looper tracks vs normalized X’

H
syoeJ) aredydnp bney

track x2

e

0 2 4 6 8 10 12 14 16 18 20

< ) ~
o o
— -

0.8f--

o
syoel dyey

16 18 20
track x2

z
= <
H o

2 -

E ",

s ad =

< —

H g

2 K S

] ;

£ T ©

a |

2 k |

g 4 - <

£ q

3 - o |

<} 4

8 i [ 1
g > © =) 0
< =] S =1 -
5 syjoen dhn oney

MKFIT_T1_base_noSel
mkFit_TT _retrainOldFiles_v2_8iter_noSel

18 20

track x2

©
—
— < E=
; = %
o o
[ ~ %
N o
© —
£ >
S & %
{=4
[ .
> 3
2z 2
] 9
(5]
= b < =
o o o w
z Z| syoes™




	Contents
	Page 1


